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for the questions
Answer either in English or in Assamese
1. Answer the following questions : - 1x7=7

o 2PTYRd T e

{a) According to Ricardo, what is the basis
of international trade?
Reer o, wwEifos Afwm fofe 2

(b) Write True or False :
wR (ST o

Heckscher-Ohlin model will be valid
when factor-intensities are reversal. '
TomH-2Ren [eReg? X0 (R-9'fer oy
QYT

{c) - What does backward shifting of an offer
curve mean?
GO RF IF PORYLE RIS @RI
IEH ? ' :

(d) Who developed the concept of Net
Barter terms of trade?

wa JfAT It 60 @A TeRw iR 2 ,
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(2)

(e) What is protection?

ST 0
() Define reciprocal demand.
ool oifRw e fit |
(99 What is unilateral quota?
oy SR SR 2
2. Answer the following questions : 2x4=8
T ST T o '

(a) State any two factors affecting gains
from International trade.
e e aee geke F9 { @e
71 eofrare o1 |

(p) What was the ‘empirical result of
Leontief’'s study?’

 PrebE s suifsfes e [ wifea 2

(c) Define income terms of trade.
oty ey 569 e |

(d) Give two non-economic arguments in
favour of protection.

HEQH T Ko SAl-SLAT {f\@ o |
3. Answer any three of the following questions :
5x3=15
o 2T P fofibr o foret ;

(a) Between classical theory and modern
theory of international trade, which one
do you think superior and why? Give
reasons in favour of your answer.
e AR FE e oy wF TYRE TG
foore ot @Ml e = S| uE o
oM %-\fm TR TR e 7 |
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(3)

(b) Explain the utility-linked terms of trade
by using usual notations.

FeIRE MCIF B 7929 IR Toafren
70 e IS TSGR W |

(c) Briefly explain the limitations of the
‘comparative cost advantage’ theory.

e I R’ oW AREerTR S

AR P41

(d) Explain the classification of tariff on the
basis of discrimination.

R fSfes wae s e
1

(e) Between tariff and quotas, which one is
superior and why? ~
% uF g AR fsote @or Tao
e 12

4. Answer the following questions : 10x3=30

o PR Ted o :

(a) Explain the factors affecting terms of
trade of a country. 10
@3 PR S TEF gOIIE T FRETR
BRI

Or / 541

“Trade as an engine of

growth”—Explain.
“afaey wftafes FErE 9 e —amm
39
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(4)

(b) Define " factor-abundance. What
- happens© to the validity of
Heckscher-Ohlin model when demand
conditions are different in two
countries? Explain with a suitable
diagram. , 2+8=10
SomH-epde ke frn 1 @few g orR
w7 fon = cofew (@R-wf ©g9
(3o fF 906 7 T foud STRIwS 11 41 |

Or / 9391

Argue the case for free trade in the
context of present global scenario. 10

e I foa | '

(c) Discuss the various effects of tariff
under partial equilibrium analysis. 10
e ST RemTe ww [ien asemm
ey wieee 0 1

Or / Sigq1

Define optimum tariff. Explain with a
suitable diagram how optimum tariff is
" determined. 2+8=10

II-WFT AR 71 | F-wT Frgg PdRa T4
=W, Soe fous e aman 39 |
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